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1. The beam has a cross-sectional area in the shape of 2 6 kN
a channel. Determine the maximum bending stress
that occurs in the beam at section g-a.
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2. The state of stress at a point is shown on the element. 60 MPa
Determine (a) the principal stress and (b) the maximum in-plane shear
stress and average normal stress at the point.
Specify the orientation of the element in each case. x 30 MPa
45 MPa
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3. The beam in Fig. is fixed supported at both ends and is
subjected to the uniform loading shown. Determine the i
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reactions at the supports. Neglect the effect of axial load. \
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4. The aluminum column is fixed at its bottom and is braced at its top -
by cables so as to prevent movement at the top along the x axis, Fig.
If it is assumed to be fixed at its base, determine the largest allowable
load P that can be applied. Use a factor of safety for buckling F.S. = 3.0.
E,=70GPa, oy =215MPa, A=75(10")m? [,=61.310%m?, 1=23.2(10°% m’

Sm

5. The point on the surface of the cylindrical pressure vessel in Fig.
is subjected to the state of plane stress.
Determine the absolute maximum shear stress at this point.

16 MPa —>




